$$2 \qquad y = (2x-3)^3 (x^2+2)^6$$

$$y = \frac{r}{\sqrt{r^2 + 1}} \qquad f_{ivd} \frac{dy}{dr}$$

Find equation of line tansent to
$$y = \sqrt{1+x^3}$$
 at $(2,3)$

- $I = \sin(\tan x)$ $\frac{dy}{dx} = \cos(\tan x) \sec^2 x$
- (2) $y = (2x-3)^3 (x^2+2)^6$ $\frac{dy}{dx} = 3(2x-3)^2(2)(x^2+2)^6 + 6(x^2+2)^5(2x)(2x-3)^3$
- $\frac{dy}{dr} = \frac{(1)\sqrt{r^2+1!} \frac{1}{2}(r^2+1)^{-1/L}(2r)(r)}{(r^2+1)^2}$ $\frac{dy}{dr} = \frac{(1)\sqrt{r^2+1!} r^2(r^2+1)^{-1/L}}{r^2+1} = \frac{1}{\sqrt{(r^2+1)^3}}$
- $\Psi' = \frac{3\cos^2 x}{\sin x}$ $\Psi'' = \frac{3\cos^2 x}{\sin x}$ $\Psi'' = \frac{6\cos x}{\sin^2 x} = \frac{3\cos^3 x}{\cos^3 x}$
- (5) Find equation of tensor ine to $y = \sqrt{1+x^3}$ and (2,3) $y' = (1+x^3)^{1/2}$ $y' = \frac{1}{2}(1+x^3)^{1/2}3x^2$ $y'(2) = \frac{1}{2}(1+2^3)^{-1/2}3(2)^2$ $= (\frac{1}{6})(12) = 2$ y = 2x 1 y = 2x 1